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E X: The ratio of transmitted to incident power is call the insertion loss.

-« Dbl

- al

AN 114 9 4% S—PARAMTERS A4 T

b1=S11*al+S12%a2 eqgsl
b2=S21%*al+S22%a2 eqs2
S12=b1/a2 4 al=0 i}
S22=b2/al M a2=0 I}

5 1 to % 2 ) Insertion Loss (dB)=-20log( | S21 | )
5 2 to i 1 ) Insertion Loss(dB)=-20log( | S21 | )
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E X: The ratio of reflected to incident signal is call the return loss.
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51 1 the return loss (dB)=-20log( | S11])
5ii 1 2 the return loss (dB)=-20log( | S22 |)
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Group delay=the derivative of the phase characteristic with respect to frequency.
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The common mode response of the balanced device, when it is stimulated with the differential mode signal.

DCMR indicates the devise capability of preventing producing interference to the other devise.
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14. {1472 CMRR?

The common mode response of the balanced device,when it is stimulated with the common mode signal.

CMRR indicates the devise capability to block the interference from transmitting.
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Cross talk indicates the devise susceptibility to interference by another channel signal.
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f+ 4 & THD+D?

THD indicates the linearity of the device,

A sinewave signal is input to the device, THD is the square root of the sum of the squares of the
individual harmonic amplitudes,

The following figure is a simplified block diagram of the THD+N setup. The key functional blocks is
a tunable notch filter (band-reject filter). In operation, this is turned to the fundamental sinewave
frequency, so that the fundamental is greatly attenuated. The filter is designed to have virtually on
insertion loss a second harmonic and higher, so harmonics are passed essentially unattenuated. Wind
band noise, AC mains-related hum, and an other interfering signals below and above the notch filter

frequency are also passed unattenuated;hence the (N9plus noise) portion of the name.
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The imbalance of the devise will transform the common mode signal to differential mode signal.

Longitudinal balance indicates the devise susceptibility to the interference.



